
Supporting 
Children

Spare Parts Catalogue
Leckey PAL Seat



1

Leckey PAL Seat Spare Parts - Pal Seat Assembly

Pos. Leckey Sales 
Code

Description

1 135-1615 Seat Base Assembly - Size 1 Green

1 135-1615-03 Seat Base Assembly - Size 1 Blue

1 135-2615-01 Seat Base Assembly - Size 2 Green

1 135-2615-03 Seat Base Assembly - Size 2 Blue

1 135-3615-01 Seat Base Assembly - Size 3 Green

1 135-3615-03 Seat Base Assembly - Size 3 Blue

1 135-4615-01 Seat Base Assembly - Size 4 Green

1 135-4615-03 Seat Base Assembly - Size 4 Blue

2 135-1614 Backrest Assembly - Size 1

2 135-2614 Backrest Assembly - Size 2

2 135-3614 Backrest Assembly - Size 3

2 135-4614 Backrest Assembly - Size 4

3 135-1611 Leg Front RH - Size 1

3 135-2611 Leg Front RH - Size 2

3 135-3611 Leg Front RH - Size 3

3 135-4611 Leg Front RH - Size 4



2

Leckey PAL Seat Spare Parts - Seat Assembly

Pos. Leckey Sales 
Code

Description

4 135-1612 Leg Rear LH - Size 1

4 135-2612 Leg Rear LH - Size 2

4 135-3612 Leg Rear LH - Size 3

4 135-4612 Leg Rear LH - Size 4

5 135-1613 Leg Rear RH - Size 1

5 135-2613 Leg Rear RH - Size 2

5 135-3613 Leg Rear RH - Size 3

5 135-4613 Leg Rear RH - Size 4

6 135-1618 Leg Front LH - Size 1

6 135-2618 Leg Front LH - Size 2

6 135-3618 Leg Front LH - Size 3

6 135-4618 Leg Front LH - Size 4

7 135-1616 Armrest RH - Size 1

7 135-2616 Armrest RH - Size 2

7 135-3616 Armrest RH - Size 3

7 135-4616 Armrest RH - Size 4

8 135-1617 Armrest LH - Size 1

8 135-2617 Armrest LH - Size 2

8 135-3617 Armrest LH - Size 3

8 135-4617 Armrest LH - Size 4

9 135-9011 Backrest Handle Knob Kit

10 135-9009 Legrest Handle Knob Kit

11 135-9012 Armrest Handle Knob Kit

12 SI09 M6 Mudguard Washer

13 135-1194 Gable to Arm Plate - Size 1, 2 & 3

13 135-4113 Gable to Arm Plate - Size 4

14 135-1113 Gable to Leg Plate - Size 1, 2 & 3

14 135-4113 Gable to Leg Plate - Size 4

15 SI04 M6 Nyloc Slim Nut

16 SJ13 M6 x 20 Socket Button

17 SJ19 M6 x 30 CSK Socket Screw

18 SJ202 M6 Dome Nut



3

Leckey PAL Seat Spare Parts - Seat Assembly

Pos. Leckey Sales 
Code

Description

19 135-1650-01 Seat Cushion - Size 1 Green

19 135-1650-03 Seat Cushion - Size 1 Blue

19 135-2650-01 Seat Cushion - Size 2 Green

19 135-2650-03 Seat Cushion - Size 2 Blue

19 135-3650-01 Seat Cushion - Size 3 Green

19 135-3650-03 Seat Cushion - Size 3 Blue

19 135-4650-01 Seat Cushion - Size 4 Green

19 135-4650-03 Seat Cushion - Size 4 Blue

20 135-1655-01 Backrest Cushion - Size 1 Green

20 135-1655-03 Backrest Cushion - Size 1 Blue

20 135-2655-01 Backrest Cushion - Size 2 Green

20 135-2655-03 Backrest Cushion - Size 2 Blue

20 135-3655-01 Backrest Cushion - Size 3 Green

20 135-3655-03 Backrest Cushion - Size 3 Blue

20 135-4655-01 Backrest Cushion - Size 4 Green

20 135-4655-03 Backrest Cushion - Size 4 Blue

21 135-1657 Lap Belt - Size 1

21 135-2657 Lap Belt - Size 2

21 135-3657 Lap Belt - Size 3

21 135-4657 Lap Belt - Size 4

22 135-1635-01 Side Pad (Pair) 25mm - Size 1 Green

22 135-1635-03 Side Pad (Pair) 25mm - Size 1 Blue

22 135-2635-01 Side Pad (Pair) 25mm - Size 2 Green

22 135-2635-03 Side Pad (Pair) 25mm - Size 2 Blue

22 135-3635-01 Side Pad (Pair) 25mm - Size 3 Green

22 135-3635-03 Side Pad (Pair) 25mm - Size 3 Blue

22 135-4635-01 Side Pad (Pair) 25mm - Size 4 Green

22 135-4635-03 Side Pad (Pair) 25mm - Size 4 Blue



4

Leckey PAL Seat Spare Parts - 
Seat Base Assembly Size 1 - 3

Pos. Leckey Sales 
Code

Description

1 135-1186-01 Gable RH - Size 1 Green

1 135-1186-03 Gable RH - Size 1 Blue

1 135-2186-01 Gable RH - Size 2 Green

1 135-2186-03 Gable RH - Size 2 Blue

1 135-3186-01 Gable RH - Size 3 Green

1 135-3186-03 Gable RH - Size 3 Blue

2 135-1187-01 Gable LH - Size 1 Green

2 135-1187-03 Gable LH - Size 1 Blue

2 135-2187-01 Gable LH - Size 2 Green

2 135-2187-03 Gable LH - Size 2 Blue

2 135-3187-01 Gable LH - Size 3 Green

2 135-3187-03 Gable LH - Size 3 Blue

3 135-1114 Backrest Pivot Plate RH

4 135-1115 Backrest Pivot Plate LH

5 SJ170 M6 T Nut

6 SJ117 M6 x 12 CSK Socket Screw



5

Leckey PAL Seat Spare Parts - 
Seat Base Assembly Size 1 - 3

Pos. Leckey Sales 
Code

Description

7 SL23 M6 Furniture Connector

8 SJ21 M6 x 35 CSK Socket Screw

9 135-1106 Static Seat Base - Size 1

9 135-2106 Static Seat Base - Size 2

9 135-3106 Static Seat Base - Size 3

10 SA16 3/4’’ X 6 CSK SCRULOX

11 135-1108 Sliding Seat Base - Size 1

11 135-2108 Sliding Seat Base - Size 2

11 135-3108 Sliding Seat Base - Size 3

12 135-2139 Cup Square Retaining Plate

13 135-1125 Pommel Plate

14 SI09 M6 Mudguard Washer

15 135-9000 Sliding Seatbase Knob & Screw Kit

16 135-1128 S1 Rigidity Bracket LH

17 135-1129 S1 Rigidity Bracket RH



6

Leckey PAL Seat Spare Parts - 
Seat Base Assembly Size 4 Only

Pos. Leckey Sales 
Code

Description

1 135-4186-01 Gable RH - Size 4 Green

1 135-4186-02 Gable RH - Size 4 Orange

1 135-4186-03 Gable RH - Size 4 Blue

1 135-4186-04 Gable RH - Size 4 Pink

2 135-4187-01 Gable LH - Size 4 Green

2 135-4187-02 Gable LH - Size 4 Orange

2 135-4187-03 Gable LH - Size 4 Blue

2 135-4187-04 Gable LH - Size 4 Pink

3 135-1114 Backrest Pivot Plate RH

4 135-1115 Backrest Pivot Plate LH

5 135-4185 Seat to Gable Bracket

6 SJ117 M6 x 12 CSK Socket Screw

7 SL23 M6 Furniture Connector

8 SJ18 M6 x 18 CSK Socket Screw

9 135-4106 Static Seat Base - Size 4

10 SJ06 M6 x 25 CSK Socket Screw

11 135-4108 Sliding Seat Base

12 135-2139 Cup Square Retaining Plate

13 135-1125 Pommel Plate

14 SI09 M6 Mudguard Washer

15 135-9000 Sliding Seatbase Knob & Screw Kit



7

Leckey PAL Seat Spare Parts - Accessories

Pos. Leckey Sales 
Code

Description

1 135-1610 Ski with Castors (Pair) - Size 1

1 135-2610 Ski with Castors (Pair) - Size 2

1 135-3610 Ski with Castors (Pair) - Size 3

1 135-4610 Ski with Castors (Pair) - Size 4

2 135-1604 Rocker/Stabiliser (Pair) - Size 1

2 135-2604 Rocker/Stabiliser (Pair) - Size 2

2 135-3604 Rocker/Stabiliser (Pair) - Size 3

2 135-4604 Rocker/Stabiliser (Pair) - Size 4

3 135-1603 Footrest - Size 1

3 135-2603 Footrest - Size 2

3 135-3603 Footrest - Size 3

3 135-4603 Footrest - Size 4

4 135-1620 Depth Adjustable Activity Tray - Size 1

4 135-2620 Depth Adjustable Activity Tray - Size 2

4 135-3620 Depth Adjustable Activity Tray - Size 3

4 135-4620 Depth Adjustable Activity Tray - Size 4

5 135-1656 Tray Pad - Size 1

5 135-2656 Tray Pad - Size 2

5 135-3656 Tray Pad - Size 3

5 135-4656 Tray Pad - Size 4



8

Leckey PAL Seat Spare Parts - Accessories

Pos. Leckey Sales 
Code

Description

6 135-1602-01 Pommel Green - Size 1

6 135-1602-03 Pommel Blue - Size 1

6 135-3602-01 Pommel Green - Size 2,3 & 4

6 135-3602-03 Pommel Blue - Size 2,3 & 4

7 135-1651-01 Ramped Seat Cushion - Size 1 Green

7 135-1651-03 Ramped Seat Cushion - Size 1 Blue

7 135-2651-01 Ramped Seat Cushion - Size 2 Green

7 135-2651-03 Ramped Seat Cushion - Size 2 Blue

7  135-3651-01 Ramped Seat Cushion - Size 3 Green

7 135-3651-03 Ramped Seat Cushion - Size 3 Blue

7  135-4651-01 Ramped Seat Cushion - Size 4 Green

7 135-4651-03 Ramped Seat Cushion - Size 4 Blue



9

Leckey PAL Seat Spare Parts - Armrest Assembly

Pos. Leckey Sales 
Code

Description

1 135-1188 Armrest RH - Size 1

1 135-2188 Armrest RH - Size 2

1 135-3188 Armrest RH - Size 3

1 135-4188 Armrest RH - Size 4

1 135-1189 Armrest LH - Size 1

1 135-2189 Armrest LH - Size 2

1 135-3189 Armrest LH - Size 3

1 135-4189 Armrest LH - Size 4



10

Leckey PAL Seat Spare Parts - Armrest Assembly

Pos. Leckey Sales 
Code

Description

2 135-1192 Arm Bracket RH - Size 1 & 2

2 135-3192 Arm Bracket RH - Size 3 & 4

2 135-1193 Arm Bracket LH - Size 1 & 2

2 135-3193 Arm Bracket LH - Size 3 & 4

3 135-1190 Shroud RH - Size 1 & 2

3 135-3190 Shroud RH - Size 3 & 4

3 135-1191 Shroud LH - Size 1 & 2

3 135-3191 Shroud LH - Size 3 & 4

4 135-1195 Retaining Plate - Size 1 & 2

4 135-4126 Retaining Plate - Size 3 & 4

5 SJ117 M6 x 12 CSK Screw

6 SJ233 M6 x 8 x 8 Shoulder Screw

7 SA16 1/2” x 6 Scrulox

8 SI12 M6 Washer



11

Leckey PAL Seat Spare Parts - Backrest Assembly

Pos. Leckey Sales 
Code

Description

1 135-1107 Backrest - Size 1

1 135-2107 Backrest - Size 2

1 135-3107 Backrest - Size 3

1 135-4107 Backrest - Size 4

2 135-1111 Angle Bracket RH - Size 1

2 135-2111 Angle Bracket RH - Size 2

2 135-3111 Angle Bracket RH - Size 3

2 135-4111 Angle Bracket RH - Size 4

3 135-1110 Angle Bracket LH - Size 1

3 135-2110 Angle Bracket LH - Size 2

3 135-3110 Angle Bracket LH - Size 3

3 135-4110 Angle Bracket LH - Size 4

4 SJ201 M6 x 12 Flanged Head Socket



12

Leckey PAL Seat Spare Parts - Foot Plate Assembly

Pos. Leckey Sales 
Code

Description

1 135-1109 Footplate - Size 1

1 135-2109  Footplate - Size 2

1 135-3109 Footplate - Size 3

1 135-4109 Footplate - Size 4

2  135-1112 Footplate Bracket

3  SJ201 M6 x 12 Flanged Head Button



13

Leckey PAL Seat Spare Parts - Front Legrest Assembly

Pos. Leckey Sales 
Code

Description

1 135-1102 Front Leg RH - Size 1

1 135-2102 Front Leg RH - Size 2

1 135-3102 Front Leg RH - Size 3

1 135-4102 Front Leg RH - Size 4

1 135-1103 Front Leg LH - Size 1

1 135-2103 Front Leg LH - Size 2

1 135-3103 Front Leg LH - Size 3

1 135-4103 Front Leg LH - Size 4



14

Pos. Leckey Sales 
Code

Description

2 135-1116 Front Inner Plate RH - Size 1

2 135-2116 Front Inner Plate RH - Size 2

2 135-3116 Front Inner Plate RH - Size 3

2 135-4116 Front Inner Plate RH - Size 4

2 135-1141 Front Inner Plate LH - Size 1

2 135-2141 Front Inner Plate LH - Size 2

2 135-3141 Front Inner Plate LH - Size 3

2 135-4141 Front Inner Plate LH - Size 4

3 135-1130 Leg Nut Retaining Plate

4 SI04 M6 Nyloc Slim Nut

5 SA18 3/4” x 6 Scrulox

6 SJ315 M6 x 16 Cup Square Bolt

7 135-1131 Leg Retaining Plate - Size 1, 2 & 3

7 135-4131 Leg Retaining Plate - Size 4

Leckey PAL Seat Spare Parts - Front Legrest Assembly



15

Pos. Leckey Sales 
Code

Description

1 135-1104 Rear Leg RH - Size 1

1 135-2104 Rear Leg RH - Size 2

1 135-3104 Rear Leg RH - Size 3

1 135-4104 Rear Leg RH - Size 4

1 135-1105 Rear Leg LH - Size 1

1 135-2105 Rear Leg LH - Size 2

1 135-3105 Rear Leg LH - Size 3

1 135-4105 Rear Leg LH - Size 4

Leckey PAL Seat Spare Parts - Rear Legrest Assembly



16

Pos. Leckey Sales 
Code

Description

2 135-1117 Rear Inner Plate RH - Size 1

2 135-2117 Rear Inner Plate RH - Size 2

2 135-3117 Rear Inner Plate RH - Size 3

2 135-4117 Rear Inner Plate RH - Size 4

2 135-1142 Rear Inner Plate LH - Size 1

2 135-2142 Rear Inner Plate LH - Size 2

2 135-3142 Rear Inner Plate LH - Size 3

2 135-4142 Rear Inner Plate LH - Size 4

3 135-1130 Leg Nut Retaining Plate

4 SI04 M6 Nyloc Slim Nut

5 SA18 3/4” x 6 Scrulox

6 SJ315 M6 x 16 Cup Square Bolt

7 135-1131 Leg Retaining Plate - Size 1, 2 & 3

7 135-4131 Leg Retaining Plate - Size 4

Leckey PAL Seat Spare Parts - Front Legrest Assembly



17

Pos. Leckey Sales 
Code

Description

1 135-1120 Stabiliser RH/Rocker LH - Size 1

1 135-2120 Stabiliser RH/Rocker LH - Size 2

1 135-3120 Stabiliser RH/Rocker LH - Size 3

1 135-4120 Stabiliser RH/Rocker LH - Size 4

2 135-1121 Stabiliser LH/Rocker RH - Size 1

2 135-2121 Stabiliser LH/Rocker RH - Size 2

2 135-3121 Stabiliser LH/Rocker RH - Size 3

2 135-4121 Stabiliser LH/Rocker RH - Size 4

3 SF90 M6 Wixroyd Knob

4 SJ309 M6 x 45 Hex Head Screw

Leckey PAL Seat Spare Parts - Rocker/Stabiliser Assembly



18

Pos. Leckey Sales 
Code

Description

1 135-1127 Tray Horse Shoe - Size 1

1 135-2127 Tray Horse Shoe - Size 2

1 135-3127 Tray Horse Shoe - Size 3

1 135-4127 Tray Horse Shoe - Size 4

2 135-1136 Tray Guide Plate

3 SJ13 M6 x 20 Button Head

4 SI12 M6 Standard Washer

5 135-1132 Tray Latch LH

6 135-1133 Tray Latch RH

7 SL46 Nylon Washer

Leckey PAL Seat Spare Parts - Tray Assembly



19

Pos. Leckey Sales 
Code

Description

8 SL23 Furniture Connector

9 135-1138 Tray Trim Side - Size 1

9 135-2138 Tray Trim Side - Size 2

9 135-3138 Tray Trim Side - Size 3

9 135-4138 Tray Trim Side - Size 4

10 135-1135 Tray Top - Size 1

10 135-2135 Tray Top - Size 2

10 135-3135 Tray Top - Size 3

10 135-4135 Tray Top - Size 4

11 135-1137 Tray Trim Front - Size 1

11 135-2137 Tray Trim Front - Size 2

11 135-3137 Tray Trim Front - Size 3

11 135-4137 Tray Trim Front - Size 4

12 SJ211 M6 x 12 CSK Socket Screw

13 135-1162 Tray Thread Plate

14 SA18 3/4” x 6 Scrulox

15 SF90 Wixroyd Knob M6

16 SJ216 M6 x 25 CSK Socket Screw Black

17 SJ18 M6 x 18 CSK Socket Screw

18 SJ19 M6 x 30 CSK Socket Screw

19 SJ94 M6 x 16 Button Head

20 SH63 Extension Spring

21 SI03 M6 Myloc Nut

Leckey PAL Seat Spare Parts - Tray Assembly



20

Pos. Leckey Sales 
Code

Description

1 135-1610 Ski with Castors - Size 1

1 135-2610 Ski with Castors - Size 2

1 135-3610 Ski with Castors - Size 3

1 135-4610 Ski with Castors - Size 4

2 SP-1043 Ski Attachment Screw Kit

3 135-9004 Front Castor Assembly

4 135-9005 Rear Castor Assembly

Leckey PAL Seat Spare Parts - Wheel Ski Assembly



Leckey
19c Ballinderry Road
Lisburn BT28 2SA
Northern Ireland

leckey.com

(+44) 28 9260 0750
hello@leckey.com

L
S
8
3
4
-
0
1


